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1. Crystal structure 
2. Crystal diffraction 
3. Crystal binding
4. Thermal vibration (phonon)
5. Specific heat

Thermal properties of solids
وتعتبر ھذه , فیزیاء الحالة الصلبة تختص بشكل كبیر لدراسة البلورات والالكترونات في ھذه البلورات

.الدراسة امتداد للفیزیاء الذریة
تتكون البلورات المثالیة بواسطة التكرار الامتناھي من وحدات تركیبیة متماثلة وغالبا ما تكون الوحدة 

التركیبیة (unit cell) 
ذرة او جزیئة 10000الى  ات وصولاًِمن عدد من الذرات او الجزیئ        

The Unit Cell Concept

      The simplest repeating unit in a crystal is called a unit cell. Opposite faces 
of a unit cell are parallel. Not unique. There can be several unit cells of a crystal. 
The smallest possible unit cell is called primitive unit cell of a particular crystal 
structure.

Unit cell

,    اذا كانت أي نقطتین     (                     ) یقال لھل اولیة ,      ,      , ان الشبیكة ومتجھات الانتقال    
-:یبدوون خلالھا التركیب الذري نفسھ ویحقق العلاقة 
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primitive transtational  vector                    non- primitive transtational  vector
حیث ان      ھي نقطة في وحدة اولیة من نقطة الاصل 

للوصول الى   ,      ,       , اعداد لوحدة الازاحة الازمة في اتجاھات    ,      ,       ,    
,        ,      ,ھي وحدة مسافات في كل اتجاه        ,      ,       ,    
متجھات الانتقال الاولیة لھا نقطة شبیكة واحدة لكل وحدة خلیة ان

اما متجھات الانتقال غیرالاولیة فلھا اكثر من نقطة انتقال شبیكة لكل وحدة خلیة كما في الشكل اعلاه
طة قمع مجموعة من ذرات ملتحقة بكل ن(            ) ات الشبیكة دان تركیب كل البلورات یوصف بوح

.وتكرر في الفراغ مكونة التركیب البلوري (           )  المجموعة من الذرات تدعى بالقاعدةشبیكة وھذه 

STRUCTURE OF SOLIDS 

Can be classified under several criteria based on atomic arrangements, 
electrical properties, thermal properties, chemical bonds etc. Using electrical 
criterion: Conductors, Insulators, Semiconductors. Using atomic arrangements: 
Crystalline, Amorphous, Polycrystalline.

Crystalline Solids
Atoms arranged in a 3-D long range order. “Single crystals” emphasizes 

one type of crystal order that exists as opposed to polycrystals. 
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Amorphous Solids
No regular long range order of arrangement in the atoms. 

common window glass, ceramic. Can be 
material. Rapid–minimizes time for atoms to pack into a more thermodynamically 
favorable crystalline state as Fig below

             
Continuous random network structure of atoms in an amorphous solid

Polycrystalline Solids

Atomic order present in sections (grains) of the solid. Different order of 
arrangement from grain to grain. Grain sizes = hundreds of µ m. An
large number of small crystals or grains in which the structure is regular, but the 
crystals or grains are arranged in a random fashion. 
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No regular long range order of arrangement in the atoms. Eg. Polymers, 
common window glass, ceramic. Can be prepared by rapidly co

minimizes time for atoms to pack into a more thermodynamically 
as Fig below.

                                    )عشوائي(تركیب غیر منتظم 
Continuous random network structure of atoms in an amorphous solid

Atomic order present in sections (grains) of the solid. Different order of 
arrangement from grain to grain. Grain sizes = hundreds of µ m. An aggregate of a 
large number of small crystals or grains in which the structure is regular, but the 
crystals or grains are arranged in a random fashion. 

Polycrystalline Solids

محاضرات صلبة                     

Eg. Polymers, 
prepared by rapidly cooling molten 

minimizes time for atoms to pack into a more thermodynamically 

                       
Continuous random network structure of atoms in an amorphous solid

Atomic order present in sections (grains) of the solid. Different order of 
aggregate of a 

large number of small crystals or grains in which the structure is regular, but the 
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Examples: 
Amorphous silicon (a-Si) used to make thin film transistors (TFTs) used as 
switching elements in LCDs. Ploycrystalline Si – Gate materials in MOSFETS.
Active regions of most solid state devices are made of crystalline 
semiconductors.

اما اذا اضطربت التكراریة )       (     ورة منفردة اذا امتدت التكراریة خلال المادة فسوف نحصل على بل
 .فسوف نحصل على تركیب متعدد البلورات(                                   ) عند الحدود الجیبیة 

(          لتنظیم نفسھا بشكل ملائم أي بواسطة التعرض لحركتھا وعندما لا تعطى الذرات الفرصة الكافیة 
(                                    ) .الغیر متبلورة فسوف تكون المادة )              

اما ما یتعلق بالبلاستك والبولیمرات فتتكون من جزیئات كبیرة ذات تركیب غیر منتظم ویصعب الحصول 
)                (           على تعبئة بلوریة منھا 

Lattice symmetry operation
There are mainly six symmetry operation :-

1. Translation symmetry operation                                               تناظر انتقالي 
2. Rotation symmetry operation                  تناظر دوراني                                    
3. Reflection symmetry operation تناظر انعكاسي                                             
4. Inversion symmetry operation  انقلابيتناظر                                                  
5. Glide symmetry operation ي                                       تناظر تزحلق                
6. Screw symmetry operation  تدویر البرغي(تناظر البرم    (                     

1. Translation symmetry operation تناظر انتقالي                 

T = n1ࢇഥ+ n2 ഥ+ n3࢈ r+T =ݎത̅ࢉ

ان مؤثر التناظر الانتقالي یتم بواسطة ازاحة التركیب البلوري او الشبیكة بموازاة نفسھ ویربط بین أي 
.في الشبیكةنقطتین 

2. Rotation symmetry operation                                          تناظر دوراني          

عدد الدورات  التي تعود بھا النقطة واحد مثلا الى موقعھا ویرمز لھا بلرمز

Rotations by an angle 2π/n about a specific axis. 
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-3التي تعود بھا النقطة واحد مثلا الى موقعھا  عدد الدورات 

اذا بقي محیط البلورة بدون تغییر بعد الدوران بزاویة                     حیث ان           فان ھذه العملیة 
)بمؤثر التناظر الدوراني (تسمى 

لاصلي عدد الطیات او الدورات بحیث ان الذرة تبقى بدون أي تغییر وترجع الى موقعھا ا

3. Reflection symmetry operation (mirror plane) تناظر انعكاسي               

if we have point r1 = axi+ayj
         after applying a mirror (reflection)

we get  ࢘ഥ1 = axi-ayj

4. Inversion symmetry operation                   تناظر انقلابي

if r represent any point or atom in space 
r1 = axi+ayj
1ݎ̅- = -axi-ayj

یمكن اعتبار الاتقلاب التناظري عملیة مركبة حیث یكأفئ .وانعكاس على شكل مرآه 180دوران ب 
عمودي على مستوي الدوران مرآه  يمصحوبا بانعكاس على مستو 180دوران 

5. Glide symmetry operation                          تناظر تزحلقي
مصحوبا  اذا كان لدینا شبیكة كاملة ببعدین یمكن ان نحصل على موثر تزحلقي والذي یكافئ انعكاس

ثابت الشبیكة 2/1بانتقال 
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6. Screw symmetry operation  تدویر البرغي(تناظر البرم       (

مصحوباً بتناظر انتقالي ) 1,2,3,4(من محور دوران ) تدویر البرغي(یتكون مؤثر التناظر المحوري 
وبذلك نحصل على العلاقة التالیة 

nT=Pa
عدد صحیححیث ان      

ونتذكر ان
حیث ان     ھو عدد الطیات    α 2π/n 

T=(
࢖
ࢇ(࢔

Ex. 1:- Draw the following screw operation  21
مع 21البدایة نقارن في     np

n=2, p=1
نطبق المعادلة 

T=(
࢖
مقدار الارتفاع             T=1/2 a«ࢇ(࢔

   α 2π/n» 2π/2= π زاویة الدوران         
لكي نرسم ھذا المؤثر نقوم برسم دائرة وھمیة تساعدنا على تقدیر الزاویة ونبدا بتدویرھا زاوي باي 
وبنفس الوقت نحرك الشكل مسافة 
1/2 a

ولو دورنا الشكل مرة اخرى بنفس الزاویة ونفس مقدار الحركة فسوف نرجع الى الموضع الاصلي 
بتناظر انتقاليولكن مصحوب 

 
   

Ex. 2:- Draw the following screw operation  31
مع 31في البدایة نقارن     np

n=3, p=1
نطبق المعادلة 

T=(
࢖
T=1/3«ࢇ(࢔ a             مقدار الارتفاع

   α 2π/3» 2π/3= 120  °زاویة الدوران        

(½)a

(½)a
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Ex. 3:- H.W:- Draw the following screw operation  43?

Hard Sphere Model of Crystals
Assumes atoms are hard spheres with well defined diameters that touch.

Atoms are arranged on periodic array – or lattice. Repetitive pattern – unit cell 
defined by lattice parameters comprising lengths of the 3 sides (a, b, c) and 
angles between the sides (α, β, γ).

Atoms in a Crystal

Crystal structure

In a crystal, the atoms are arranged in a regulator pattern that repeats 
throughout the material. The periodic arrangement of atoms in a crystal is called 
a lattice. All the lattice points are geometrically equivalent. A lattice therefore 
exhibits perfect translational symmetry and, relative to an arbitrarily chosen 
origin, at a lattice point, any other lattice point has the position vector.

(1/3)a

(1/3)a

(1/3)a
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r123 = n1a + n2b + n3c 

where n is necessarily an integer and the vectors a, b and c are fundamental units 
of the  translational symmetry. There are fourteen different lattice structures 
which are called the Bravais lattices. By repeated duplication, a unit cell should
reproduce the whole crystal.A Bravias lattice (unit cells) - a set of points
constructed by translating a single point in discrete steps by a set of basis 
vectors.In 3-D, there are 14 unique Bravais lattices. All crystalline materials fit 
in one of these arrangements.

Crystal system

The crystal system: Set of rotation and reflection symmetries which leave a 
lattice point fixed.There are seven unique crystal systems: the cubic (isometric), 
hexagonal, tetragonal, rhombohedral (trigonal), orthorhombic,monoclinic and 
triclinic.
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(1-a): Simple Cubic Structure (SC)
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SC
1. No. of atom/unit cell 1/8*8=1 atom
2. No. of nearest neighbor are 6
3. the distance of the nearest neighbor d=a
4. the relation between r and a is a=2r, r=a/2

5. the primitive vector are 

Volume=|ࢇഥ. ∗ഥ࢈ |തࢉ
Volume= ia.( jb*kc)
a=b=c in the cubic system
Volume= ia.( ja*ka)» 
Volume=a3
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No. of atom/unit cell 1/8*8=1 atom
No. of nearest neighbor are 6

nearest neighbor d=a
the relation between r and a is a=2r, r=a/2

the primitive vector are ࢇഥ=ia, ࢈ഥ=jb, ࢉത=kcത
in the cubic system

a)» ia.( ia2)

محاضرات صلبة                     
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(1-b): Body Centered Cubic Structure (BCC)
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BCC

D=ටࢇ૛+ (√૛܉)૛
D=√૜a

d=1/2(√૜a)
1. No. of atom/unit cell (1/8*8)+1=2 atom
2. No. of nearest neighbor are 8

3. the distance of the nearest neighbor d=૚/૛(√૜a)

4. the relation between r and a is √૜a =r+r+2r, √૜a =4r» r=1/4(√૜a)
r=d/2

5. the primitive vector areࢇഥ=a/2(i+j-k) ࢈ഥ= a/2(-i+j+k)ࢉത= a/2(i-j+k)

Volume=|ࢇഥ. ∗ഥ࢈ |തࢉ
Volume= a/2(i+j-k).( a/2(-i+j+k)* a/2(i-j+k))
a=b=c in the cubic system 
Volume=(1/2)a3

(1-c): Face Centered Cubic Structure (FCC)

a

√૛a

d
D
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FCC

D=√૛a

d=1/2(√૛a)
1. No. of atom/unit cell (1/8*8)+6*1/2=4 atom
2. No. of nearest neighbor are 12

3 planes * 4 points=12

3. the distance of the nearest neighbor d=૚/૛(√૛a)

4. the relation between r and a is √૛a =r+r+2r, √૛a =4r» r=1/4(√૛a)
r=d/2

5. the primitive vector of FCC areࢇഥ=a/2(i+j) ࢈ഥ= a/2(j+k)ࢉത= a/2(i+k)

Volume=|ࢇഥ. ∗ഥ࢈ |തࢉ
Volume= a/2(i+j).( a/2(j+k)* a/2(i+k))
a=b=c in the cubic system 
Volume=(1/4)a3

a

√૛a

d

D

a
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The filling factor F.F or packing factor

و النسبة المئویة للحجم المشغول بواسطة الذرات على الحجم الكلي للمكعب او النظام وھ

F.F=
࢓࢛࢒࢕࢜ ࢓࢕࢚ࢇ ࢟࢈ ࢊࢋ࢏࢖࢛ࢉࢉࢇ ࢋ ࢙

 ࢓࢛࢒࢕࢜ ࢒ࢇ࢚࢕࢚
F.F=

૝૜࢘࣊૜∗࢓࢕࢚ࢇࢌ࢕.࢕ࡺ  ૜ࢇ࢒࢒ࢋࢉ ࢚࢏࢔࢛࢙
Applications 
1.SC

No. of atoms /unit cell=1
r=a/2

F.F=
૝૜࣊(ࢇ૛)૜∗૚

= = ૜ࢇ
࣊
૟ =3.14/6=52%

2.BCC
No. of atoms /unit cell=2

r=1/4(√૜a)

F.F=
૝૜࣊(√૜ࢇ૝ )૜∗૛

૜ =68%ࢇ

3.FCC
No. of atoms /unit cell=4

r=1/4(√૛a)

F.F=
૝૜࣊(√૛ࢇ૝ )૜∗૝

૜ =74%ࢇ



    وسام الدجيلي.د+ مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                     

18



    وسام الدجيلي.د+ مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                     

19



    وسام الدجيلي.د+ مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                     

20



    وسام الدجيلي.د+ مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                     

21



مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                         وسام الدجيلي.د+ مسلم البلداوي

22

محاضرات صلبة                     



مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                         وسام الدجيلي.د+ مسلم البلداوي

23

محاضرات صلبة                     



    وسام الدجيلي.د+ مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                     

24

Miller Index

•Miller index is used to describe directions and planes in a crystal.
•Directions written as [u v w] where u, v, w integers u, v, w represent 
coordinates of the vector in real space. A family of directions which are 
equivalent due to symmetry operations is written as <u v w>
•Planes: Written as (h k l), Integers h, k, and l represent the intercept of the plane 
with x, y, and z axes, respectively. Equivalent planes represented by [h k l].

Q: - The intercepts of a crystal plane with the axis defined by a set of unit 
vectors are at 2a, -3b and 4c. Find the corresponding Miller indices of this and 
all other crystal planes parallel to this plane.
The Miller indices are obtained in the following three steps:
1. Identify the intersections with the axis, namely 2, -3 and 4.
2. Calculate the inverse of each of those intercepts, resulting in 1/2, -1/3 and 1/4.
3. Find the smallest integers proportional to the inverse of the intercepts. 
Multiplying each fraction with the product of each of the intercepts (24 = 2 x 3 x 
4) does result in integers, but not always the smallest integers.
4. These are obtained in this case by multiplying each fraction by 12.
5. Resulting Miller indices is (6 4ത3)
6. Negative index indicated by a bar on top.

Miller Indices: Directions
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Negative Directions

Miller Indices: Equivalent Directions

Equivalent directions due to crystal symmetry:
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Miller Indices of Planes
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Planes with Negative Indices

Miller Index for Hexagonal Crystal System

•Four principal axes used, leading to four Miller Indices:
•Directions [h k i l]; Planes (h k i l), e.g. (0001) surface.
•First three axes/indices are related: h + k + i = 0 or i = -h-k.
•Indices h, k and l are identical to the Miller index.
• Rhombohedral crystal system can also be identified with four indices.

تعطي علامة بین معاملات ملر الثلاثة الاولى وھي  )a1,a2,a3( عامدةتان العلامة بین المتجھات الم
  .وجوب ان یكون مجموعھا یساوي صفراَ

Q:- show that the first three miller indices in the hexagonal system have a sum 
of  zero.

  ) a1,a2,a3(ناخذ قاعدة النظام السداسي والتي فیھا المحاور المتساویة 
  المحوریننختار مستوي یقطع أي من , 120والزوایا بین كل محورین 

الامتداد السالب للمحور الثالث ویقطع                                          

  a1

a2

a3

a1/h

a2/k

a3/i
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ΔABE=
ଵ
ଶ

௔ଷ
௜∗ ௔ଵ

௛ sin 60
ΔABD=

ଵ
ଶ

௔ଷ
௜∗ ି௔ଶ

௞ sin 60
ΔBED=

ଵ
ଶ

௔ଵ
௛ ∗ ି௔ଶ

௞ sin 60
ΔABE= ΔABD+ ΔBED

ଵ
ଶ

௔ଷ
௜∗ ௔ଵ

௛ sin 60= - ଵଶ௔ଷ
௜∗ ௔ଶ

௞ sin 60 - ଵଶ௔ଵ
௛ ∗ ௔ଶ

௞ sin 60
a1=a2=a3=a

௔మ
௜௛= − ௔మ

௜௞− ௔మ
௛௞»

ଵ
௜௛= − ଵ

௜௞− ଵ
௛௞

௛ା௞ା௜
௜௛௞= 0» ℎ + ݇ + ݅= 0

  

Wigner-Seitz cell

In order to incorporate the information about the point group symmetry in the 
primitive cell, the Wigner-Seitz cell is usually employed. This particular 
primitive unit cell is constructed by first drawing lines to connect a given lattice 
point to all nearby lattice points, and then drawing new lines (or planes, in three-
dimensional lattices) at the mid point and normal to the first lines. The Wigner-
Seitz cell is the smallest area (volume) enclosed by the latter lines (planes). An 
example of the construction of a Wigner-Seitz cell for a two-dimensional 
oblique lattice is illustrated in the figure below. For a two-dimensional square 
lattice the Wigner-Seitz cell is also a square. The Wigner-Seitz cell is always 
centered on a lattice point and incorporates the volume of space which is closest 
to that lattice point rather than to any other point.
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المتجاورة(               ) حساب المسافة الفاصلة بین مستویات 

cos 2 α+ cos 2 β+ cos 2 γ=1………………………………1

d=a/h cos α

d=b/k cos β

d=c/l cos γ

1من العلاقات اعلاه سوف نجد قیمة كل من جیب تمام الزوایا ونعوضھا في معادلة رقم 

 d2[(h/a) 2+(k/b) 2+(l/c) 2]=1

X

y

z

X

y

z

α

β

γ



    وسام الدجيلي.د+ مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                     

30

d hkl=
ଵ

ඥ(୦/ୟ)మ ା(୩/ୠ )మା(୪/ୡ )మ)
for cubic system a=b=c

d hkl=
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ)
d=inter planer distance

a=inter atomic separation

Ex.1:- find the inter planer distance of the following plane (100).

d hkl=
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ) =    
௔

ඥ(ଵ)మ ା(଴ )మା(଴ )మ) = a

Ex.2:- find the inter planer distance of the following plane (200).

d hkl=
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ) =    
௔

ඥ(ସ)మ ା(଴ )మା(଴ )మ) = a/2

Q:-show that in the cubic system the directional cosines are:-

1-proporational to the Miller indices 

cos α/cos β/ cos γ=h/k/l

2-prove that  cos α =
௛

ඥ(୦)మ ା(୩ )మା(୪ )మ), cos β=
௞

ඥ(୦)మ ା(୩ )మା(୪ )మ),  

cos γ =
௟

ඥ(୦)మ ା(୩ )మା(୪ )మ),
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cos α= d(h/a)

cos β= d(k/b)

cos γ= d(l/c)

in the cubic system 

a=b=c

cos α/ cos β= d(h/a)/ d(k/b)= (h/k)

cos β/ cos γ= d(k/b)/ d(l/c)= (k/l)

cos γ/ cos α= d(l/c)/ d(h/a)= (l/h)

cos α/cos β/ cos γ=h/k/l

we remember 

d =
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ)                بضرب طرفي المعادلة ب*(h/a)

(h/a)*d =
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ)  *(h/a)              

cos α=
௛

ඥ(୦)మ ା(୩ )మା(୪ )మ)  
وبنفس الطریقة یمكن ایجاد  

d =
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ)                بضرب طرفي المعادلة ب*( k/b)

a=b=c

(k/b)*d =
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ)  *(k/b)              

cos β=
௞

ඥ(୦)మ ା(୩ )మା(୪ )మ)  
وبنفس الطریقة بالنسبة الى 

cos γ =
௟

ඥ(୦)మ ା(୩ )మା(୪ )మ),

X

y

z

α

β

γ
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Crystal diffraction

حصل على معلومات كافیة من خلال الملاحظات المجھریة ندراسة التركیب البلوري لایمكن ان لغرض 
لمستخدم وفي او بالعین المجردة لیس لان للمجھر حدود معینة للتكبیر بل الموضوع یتعلق بطبیعة الشعاع ا

نریده ھو ما ف انكستروم 7000-4000الموجیة محصورة بین  ھا مرئیا اطوالالمجاھر عادة یكون ضوء
وبما ان الفسح بین ذرات البلورة لاتزید  الموجي یساوي او اقل من المسافات المطلوب تحلیلھا ھشعاع طول

 ةعن بضع انكسترومات اذا فالشعاع المطلوب یجب ان یكون طولھ الموجي یساوي او اقل من بضع
مثل حجم اصغر  ن التركیب البلوريعومن خلال ھذا سوف نحصل على تفاصیل وافیة  انكسترومات

خلیة في البلورة ومواضع نوى الذرات والتوزیع الالكتروني في داخل الخلیة وكذلك انماط اھتزاز ذرات 
.)الاستطارة  (  البلورة ان ھذا وغیره یتم من خلال الانعطاف اوالحیود وتدعى ھذه العملیة احیانا بالتشتت

متى تحصل الاستطارة والتشتت /س 

لاشعاع الكھرومغناطیسي مع المادة فاذا فقد الجسیم او الفوتون المنحرف عن مساره عندما یتفاعل ا /ج 
قسما من طاقتھ فھذه العملیة تدعى الاستطارة غیر المرنة وذا لم یحدث تغیر في الطاقة لایحدث تغیر في 

                        .)الاستطارة المرنة ( الطول الموجي فان العملیة تدعى

انواع اساسیة من الجسیمات الموجیة المختلفة بالطاقة والتي یمكن استخدامھا في تجارب توجد ثلاث 
-:الحیودوھذه الانواع الثلاثة ھي 

1-X-ray photons.
2- Electrons.
3-Neutrons. 

     X-ray photons فوتونات الاشعة السینیة.1
موجیة محددة تقع بین الاشعة فوق البنفسجیة ان الاشعة السینیة ھي موجات كھرومغناطیسیة ذات اطوال 

10Å-0.1)واشعاعات كاما حیث لاتزید اطوالھا الموجیة عن بضعة انكسترومات ) 
ܧان طاقة الفوتون للاشعة السینیة   = ℎݒ =௛௖

ఒ» h=6.63*10-34

   c=3*108 m/sߣ൫Å൯= ଵଶ.ସ
ா(௞௘௏)    

if 1=ߣ Å»E=12400 eV
E=12.4 KeV

  
)KeV 50-10(قات بحدودتركیب البلوري تحتاج الى طاان دراسة ال
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Electrons   الالكترونات.2
بموجب نظریة ان ظاھرة الحیود الالكتروني ھي في الاساس اثبات لوجود موجات ترافق الالكترونات 

مع مایمیز الالكترون عن الفوتون والنیوترون امتلاكھ للشحنة ویتفاعل بقوة ولكن دیبرولي المعروفة 
المواد ویخترقھا الى مسافات صغیرة نسبیا قد تصل الى بضعة مئات من الانكسترومات قبل ان یعاني 

ߣان طاقة الالكترون تعطى بواسطة علاقة دیبرولي  ,من تشتت مرن او غیر مرن =௛
௣= ௛

௠೐௩
p=momentum
me=mass of electron 
v=velocity of electron 
h=planks constantܧ = ℎଶ/2 ௘݉ߣଶ
ߣ = ℎଶ/ඥ2 ௘݉ܧ(ܸ݁ (Å)ߣ( = 12 /ඥܧ(ܸ݁ )
if 1=ߣ Å»E=150 eV

Neutrons النیوترونات.3
تم بناء اول جھاز لتسجیل الحیود النیوتروني وكما نعلم فان للنیوترون شحنة متعادلة  1945في عام 

تلك عزم مغناطیسي بسبب عدم تطابق مركزي الشحنة السالبة والموجبة لذلك یمكن الاستفادة یمولكنھ 
منھ في دراسة التراكیب البلوریة للبلورات المغناطیسیة حیث یتفاعل النیوترون بسبب عزمھ 
المغناطیسي مع الكترونات ھذه البلورات وكذلك تفاعلھ مع نوى الذرات اما في حالة البلورات الغیر 

تعطى معادلة طاقة النیوترون بواسطة معادلة دیبرولي , مغناطیسیة فالنیوترون یتفاعل مع نوى الذرات

ߣ =௛
௣= ௛

௠೙௩
p=momentum
mn=mass of neutrons 
v=velocity of neutrons
h=planks constant

ܧ = ℎଶ/2 ௡݉ߣଶ
ߣ = ℎଶ/ඥ2 ௡݉ܧ(ܸ݁ (Å)ߣ( = 0.28 /ඥܧ(ܸ݁ )
if 1=ߣ Å»E=0.08 eV



    وسام الدجيلي.د+ مسلم البلداوي.د/اعداد                                                    محاضرات صلبة                     

34

Bragg diffraction law
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nλ=2d sin θ
n=1, 2 θ=1
λ max=2d

یجب ان یكون طولھ الموجي یساوي او اقل من المسافة الشعاع المطلوب استخدامھ لدراسة الحیود
hklالبینیة بین مستویات  

i.e λ≤2d
if d=5Å » λ max≤10 Å

ھذا ھو السبب في عدم الاستفادة من الضوء المرئي في دراسة التركیب البلوري لان الاطوال الموجیة 
  .Å) 7000 - 4000(محصورة بین 

لذلك یكون من المفید ایجاد علاقة تدخل فیھا  θ2وھي تساوي  фفي المختبر نقیس عادة الزاویة 
  .aوكذلك المسافة البینیة بین الذرات  фالزاویة 

  
d =

௔
ඥ(୦)మ ା(୩ )మା(୪ )మ)

nλ=2d sin θ
nλ=2

௔
ඥ(୦)మ ା(୩ )మା(୪ )మ) sin θ

((h)ଶ + (k )ଶ+ (l )ଶ) ଶ݊ߣଶ= 4 ଶܽ݅ݏ ଶ݊ ݏ݅ߠ ଶ݊ ߠ = 1/2(1 − ݏ݅(ߠ2ݏܿ݋ ଶ݊ ߠ = 1/2(1 − + ф)((h)ଶݏܿ݋ (k )ଶ+ (l )ଶ) ଶ݊ߣଶ= 2 ଶܽ(1 − (фݏܿ݋
وھذا الشكل العملي لقانون براك
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Experimental diffraction methods
1-Laue method                                                                                       طریقة لاوي
2-Rotating crystal method طریقة البلورة الدوارة                                                         
3-Powder method                                                                          طریقة المسحوق     

Laue diffraction equation

                                
in one dimension

let α and αo are the angles 
between  a and the incident 
and diffracted radiation 
respectively ,
where a is inter atomic distance 

from the Fig.
Δ1= a cos αo=ࢇ.ሬሬሬ࢙⃗ሬ⃗o

Δ2= a cos α =ࢇ.ሬሬሬ࢙⃗ሬ⃗
The path-difference

Δ2- Δ1= a(cos α-cos αo)=ࢇ.ሬሬሬ⃗(࢙ሬ⃗-࢙ሬ⃗o)= ࢇ.ሬሬሬ⃗ࡿሬሬ⃗
where S=(࢙ሬ⃗-࢙ሬ⃗o) is the normal scattering factor  عامل الاستطارة العمودیة

نحصل على تداخل بناء فان فرق المسار ھذا یجب ان یساوي مضاعفات عددیة صحیحة الى الطول لكي 
الموجي
a(cos α-cos αo) = ࢇ.ሬሬሬ⃗ࡿሬሬ⃗=eλ

for three dimension
باستخدام نفس الاسلوب اعلاه سوف نحصل على 
a(cos α-cos αo)=ࢇ.ሬሬሬ⃗(࢙ሬ⃗-࢙ሬ⃗o)= ࢇ.ሬሬሬ⃗ࡿሬሬ⃗= λࢋ
b(cos β-cos βo)=࢈.ሬሬሬ⃗(࢙ሬ⃗-࢙ሬ⃗o)= ࢈.ሬሬሬ⃗ࡿሬሬ⃗=fλ
cγ(cos γ-cos γo)=ࢉ.ሬሬ⃗(࢙ሬ⃗-࢙ሬ⃗o)= ࢉ.ሬሬ⃗ࡿሬሬ⃗= λࢍ

where  e=nh, f=nk, g=nl (hkl) Miller indices 
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from the Fig. we find that
│S│=2 sin θࡿሬሬ⃗=2 sin θ. ࢔ሬሬ⃗
where ࢔ሬሬ⃗is unit vector along ࡿሬሬ⃗
Q-Prove that Laue equation are equivalent to Braggs law.
Answer:-
a(cos α-cos αo)= λ=nhλࢋ
b(cos β-cos βo =fλ=nkλ
cγ(cos γ-cos γo)=ࢍλ=nlλ

*consider a cubic system a=b=c
* Take the square of both sides of Laue equation above and add them 
together we get
a2 [(cos 2 α+ cos 2 β+ cos 2 γ)+ (cos 2 αo+ cos 2 βo+ cos 2 γo)-2(cos α cos αo + cos
β cos β o + cos γ cos γ o)]=(e2+f2+g2) λ2

e=nh,f=nk,g=nl
a2 [2-2(cos α cos αo + cos β cos β o + cos γ cos γ o)]=n2 (h2+k2+l2) λ2

because  (cos 2 α+ cos 2 β+ cos 2 γ)= (cos 2 αo+ cos 2 βo+ cos 2 γo)=1
but 
(cos α cos αo + cos β cos β o + cos γ cos γ o)=cos ф (to be prove later) where 
ф=2θ
2 a2[1-cos ф]= n2 λ2 (h2+k2+l2) 

cos ф =(cos α cos αo + cos β cos β o + cos γ cos γ o)

=ሬ࢙⃗ i cos α+ j cos β+ k cos γ࢙ሬ⃗o= i cos αo + j cos βo + k cos γo

ሬ⃗o=│s│.│so│ cos ф࢙ .ሬ࢙⃗
       = cos ф

=ሬ⃗o࢙ .ሬ࢙⃗ cos α cos αo + cos β cos β o + cos γ cos γ o= cos ф

X

y

z

α

β

γ
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Other forms of Laue equation 

1-in terms of phase difference H
Definition :-
H=path diff.*2π/λ
but path diff.=ࢇ.ሬሬሬ⃗ࡿሬሬ⃗=࢈.ሬሬሬ⃗ࡿሬሬ⃗
ሬሬ⃗ࡿሬሬ⃗.ࢉ=
H=(2π/λ)*(ࢇ.ሬሬሬ⃗ࡿሬሬ⃗)= 2π/λ*e λ=2πe=2πnh
H=(2π/λ)*(࢈.ሬሬሬ⃗ࡿሬሬ⃗)= 2π/λ*f λ=2πf=2πnk
H=(2π/λ)*(ࢉ.ሬሬ⃗ࡿሬሬ⃗)= 2π/λ*g λ=2πg=2πnl

Reciprocal lattice الشبیكة المقلوبة                                                                       
The concept of reciprocal lattice is directly connected with the periodicity of 
crystalline materials and of their physical properties (such as charge density, 
electric field distribution, etc.).

ھي مفھوم اساسي في علم البلورات یستخدم للتعبیر عن كل الظواھر التي تنتج من تفاعل الموجات في 
نعلم فان حیود الاشعة السینیة تنتج من استطارتھا من الذرات ولاجل  كماالمواد الصلبة مثل الحیود و

.معرفة مصدر كل استطارة نستخدم مفھوم الشبیكة المقلوبة 

  .قطة في الشبیكة المقلوبةھو الذي یعین موقع ن hklان مقلوب المسافة البینیة بین مستویات 

│Ghkl│=
஺
ௗ

where Ghkl is reciprocal lattice vector 

في موضوع الحالة الصلبة   π2وسوف نستخدم  1او π2عامل قیاس الرسم وقیمتھ اما   A 

│Ghkl│=  π2 /dhkl

  

ان الشبیكة المقلوبة ھي عدد غیر محدد من النقاط المرتبة بانتظام وبشكل دوري في فضاء ثلاثي الابعاد 
  d في الشبیكة المقلوبة تتناسب عكسیا مع المسافة البینیة وان طول المتجھ بین نقطة الاصل وأي نقطة 

بین المتجھات الاساسیة للشبیكة  اشتقاق العلاقةلمجموع من المستویات المتوازیة في شبیكة حقیقیة ولاجل 
كة مائلة محاورھا الاساسیةیكة المقلوبة نفرض ان لدینا وحدة خلیة لشبیالحقیقیة والمتجھات الاساسیة للشب    ሬሬ⃗.ࢉሬሬሬ⃗.࢈ ሬሬሬ⃗.ࢇ 
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  الارتفاع *مساحة القاعدة  vحجم ھذا المكعب 

v مساحة القاعدة *op

 v  مساحة القاعدة*d001

=1/d001 الحجم /القاعدةمساحة
௔ሬ⃗∗௕ሬ⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗  

│Ghkl│=  π2 /dhkl

G001=  π2 /d001=  π2
௔ሬ⃗∗௕ሬ⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗
- :وبنفس الطریقة نجد   

G010=  π2 /d010=  π2
௔ሬ⃗∗௖⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗
G100=  π2 /d100=  π2

௕ሬ⃗∗௖⃗
௔ሬ⃗.௕ሬ⃗∗௖⃗

G001 ویمكن استبدال ,G100 G010  بالرموز التالیة, ∗ܽ , ∗ܾ  , الشبیكة المقلوبة لتمثیل متجھات ܿ∗
  الاساسیة

∗ܽ =  π2
௕ሬ⃗∗௖⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗
∗ܾ =  π2

௔ሬ⃗∗௖⃗
௔ሬ⃗.௕ሬ⃗∗௖⃗

∗ܿ =  π2
௔∗௕ሬ⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗
   ሬሬ⃗.ࢉሬሬሬ⃗.࢈ یكون عمودي على  ܽ∗من ھذه العلاقات نفھم على انھ 

∗ܽ   ሬሬ⃗.ࢉሬሬሬ⃗.࢈    ┴

∗ܾ   ሬሬ⃗.ࢉ ሬሬሬ⃗.ࢇ   ┴

∗ܿ   ሬሬሬ⃗.࢈ ሬሬሬ⃗.ࢇ   ┴
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∗ܽ. =ሬሬ⃗ࢇ ∗ܾ. =ሬሬ⃗࢈ ∗ܿ. =ሬ⃗ࢉ ૛࣊
∗ܽ. =ሬሬ⃗࢈ ∗ܽ. =ሬ⃗ࢉ ∗ܾ. =ሬሬ⃗ࢇ ∗ܾ. =ሬ⃗ࢉ ∗ܿ. =ሬሬ⃗ࢇ ∗ܿ. ሬሬ⃗=0࢈

   ሬሬ⃗.ࢉሬሬሬ⃗.࢈ ሬሬሬ⃗.ࢇلقد حددنا مواقع الشبیكة الحقیقیة بواسطة المتجھات الاساسیة 

Rhkl=hࢇሬሬ⃗+࢈࢑ሬሬ⃗+  ሬ⃗ࢉ࢒
ܽ∗معاملات ملر لمحاور الشبیكة المقلوبة  اما في الشبیكة المقلوبة فیتم تعریف أي نقطة في ھذه الشبیكة بدلالھ ∗ܾ ∗ܿ  

Ghkl=h ∗ܽ ࢑+ ∗ܾ + ∗ܿ࢒  
تطبیقات الشبیكة المقلوبة 

1-SC
The primitive vector ࢇഥ=ai ࢈ഥ= bjࢉത= ck

∗ܽ =  π2
௕ሬ⃗∗௖⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=2  π
ୟమ୧
ୟయ=( ଶ π

ୟ)i

∗ܾ =  π2
௔ሬ⃗∗௖⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=( ଶ π
ୟ)j

∗ܿ =  π2
௔∗௕ሬ⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=( ଶ π
ୟ)k

,ܽ∗حیث ان طول  ∗ܾ, ଶ π )یساوي   ܿ∗
ୟ)  لذلك فان مقلوب المكعب البسیط ھو  90والزوایا متساویة

ଶ π )كذلك مكعب بسیط ولكن ثابت الشبیكة ھو 
ୟ)
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2-BCC
The primitive vector ࢇഥ=a/2(i+j-k) ࢈ഥ= a/2(-i+j+k)ࢉത= a/2(i-j+k)

∗ܽ =  π2
௕ሬ⃗∗௖⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=2  π
௕ሬ⃗∗௖⃗
౗య
మ

= ଶ π
ୟ(i+j)

∗ܾ =  π2
௔ሬ⃗∗௖⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=
ଶ π
ୟ(j+k)

∗ܿ =  π2
௔∗௕ሬ⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=
ଶ π
ୟ(i+k)

Ghkl=h ∗ܽ ࢑+ ∗ܾ + ∗ܿ࢒  =h[
ଶ π
ୟ(i+j) ]+k[

ଶ π
ୟ(j+k) ]+l[

ଶ π
ୟ(i+k) ]

=
ଶ π
ୟ( h+l)i ]+ (h+k)j ]+ (k+l)k ]

The reciprocal lattice of (BCC) is (FCC)

3-FCC
The primitive vector ࢇഥ=a/2(i+j) ࢈ഥ= a/2(j+k)ࢉത= a/2(i+k)

∗ܽ =  π2
௕ሬ⃗∗௖⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=2  π
௕ሬ⃗∗௖⃗
౗య
ర

= ଶ π
ୟ(i+j-k)

∗ܾ =  π2
௔ሬ⃗∗௖⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=
ଶ π
ୟ(-i+j+k)

∗ܿ =  π2
௔∗௕ሬ⃗

௔ሬ⃗.௕ሬ⃗∗௖⃗=
ଶ π
ୟ(i-j+k)
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Ghkl=h ∗ܽ ࢑+ ∗ܾ + ∗ܿ࢒  =h[
ଶ π
ୟ(i+j-k) ]+k[

ଶ π
ୟ(-i+j+k) ]+l[

ଶ π
ୟ(i-j+k) ]

=
ଶ π
ୟ( h-k+l)i ]+ (h+k-l)j ]+ (-h+k+l)k ]

The reciprocal lattice of (FCC) is (BCC)

Q-show that d=
૛࣊

=is equivalent to d hkl│ࡳ│
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ)
in SC.

Answer:-

Ghkl=h ∗ܽ ࢑+ ∗ܾ + ∗ܿ࢒  =ଶ π
ୟ(hi+kj+lk)

Ghkl. Ghkl=│ Ghkl│
2  =

ସ πమ
ୟమ((h)ଶ+ (k )ଶ+ (l )ଶ))

│ Ghkl│=
ଶ π
ୟ ඥ(h)ଶ + (k )ଶ+ (l )ଶ)

d=
૛࣊

=│ࡳ│ =
૛࣊

మ π౗ඥ(୦)మ ା(୩ )మା(୪ )మ)=
௔

ඥ(୦)మ ା(୩ )మା(୪ )మ)
Q-show that Δk=G

The wave vector  │ │ሬሬ⃗࢑ =
ଶ π
஛

ઢk=࢑ሬሬ⃗-࢑ሬሬ⃗o=normal to the plane

=diff. in the wave vectors

from the Fig.

│ ઢk │ =
ଶ π
஛sin θ+

ଶ π
஛sin θ

│ ઢk │ =
ସ π
஛sin θ ……………scaler

and │ ઢk │ =(
ସ π
஛sin θ). ෤݊……………vector

෤݊unit vector along the normal ઢk or G

෤݊= ሬሬ⃗ࡳ
│«=│ሬሬ⃗ࡳ│ ઢk │ =(

ସ π
஛sin θ). ෤݊»│ ઢk │ =(

ସ π
஛sin θ).

ሬሬ⃗ࡳ
│ሬሬ⃗ࡳ│

d=
૛࣊

«│ࡳ│ ࣊૛=│ࡳ│
│««ࢊ ઢk │ =(

ସ π
஛sin θ).

ࢊ࣊ሬሬ⃗૛ࡳ
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ઢk │ =(
ଶ ୢ
஛sin θ). ࡳሬሬ⃗»»2dsinθ=n λ for n=1

ઢk=ࡳሬሬ⃗
=ሬሬ⃗࢑««ሬሬ⃗ࡳ=ሬሬ⃗o࢑-ሬሬ⃗࢑ ሬሬ⃗ࡳ+ሬሬ⃗o࢑



1. Crystal structure 

2. Crystal diffraction 

3. Crystal binding

4. Thermal vibration (phonon)

5. Specific heat

Thermal properties of solids

فيزياء الحالة الصلبة تختص بشكل كبير لدراسة البلورات والالكترونات في هذه البلورات, وتعتبر هذه الدراسة امتداد للفيزياء الذرية.

تتكون البلورات المثالية بواسطة التكرار الامتناهي من وحدات تركيبية متماثلة وغالبا ما تكون الوحدة التركيبية (unit cell) 

        من عدد من الذرات او الجزيئات وصولاًِ الى 10000 ذرة او جزيئة



The Unit Cell Concept



      The simplest repeating unit in a crystal is called a unit cell. Opposite faces of a unit cell are parallel. Not unique. There can be several unit cells of a crystal. The smallest possible unit cell is called primitive unit cell of a particular crystal structure.

[image: E:\محاضرات صلبة\unit cell.JPG]









Unit cell





ان الشبيكة ومتجهات الانتقال    ,      ,      , يقال لهل اولية (                     ) اذا كانت أي نقطتين     ,     يبدوون خلالها التركيب الذري نفسه ويحقق العلاقة:-





















[image: E:\محاضرات صلبة\permittive.JPG]

















primitive transtational  vector                    non- primitive transtational  vector

حيث ان      هي نقطة في وحدة اولية من نقطة الاصل 

   ,      ,       , اعداد لوحدة الازاحة الازمة في اتجاهات    ,      ,       , للوصول الى   

   ,      ,       , هي وحدة مسافات في كل اتجاه        ,        ,      ,

ان متجهات الانتقال الاولية لها نقطة شبيكة واحدة لكل وحدة خلية

اما متجهات الانتقال غيرالاولية فلها اكثر من نقطة انتقال شبيكة لكل وحدة خلية كما في الشكل اعلاه

ان تركيب كل البلورات يوصف بوحدات الشبيكة (            ) مع مجموعة من ذرات ملتحقة بكل نقطة شبيكة وهذه المجموعة من الذرات تدعى بالقاعدة (           ) وتكرر في الفراغ مكونة التركيب البلوري .



STRUCTURE OF SOLIDS 



Can be classified under several criteria based on atomic arrangements, electrical properties, thermal properties, chemical bonds etc. Using electrical criterion: Conductors, Insulators, Semiconductors. Using atomic arrangements: Crystalline, Amorphous, Polycrystalline.



Crystalline Solids

Atoms arranged in a 3-D long range order. “Single crystals” emphasizes one type of crystal order that exists as opposed to polycrystals. 

[image: ][image: ]













Amorphous Solids

No regular long range order of arrangement in the atoms. Eg. Polymers, common window glass, ceramic. Can be prepared by rapidly cooling molten material. Rapid–minimizes time for atoms to pack into a more thermodynamically favorable crystalline state as Fig below.



[image: ]

[image: ]



تركيب غير منتظم (عشوائي)                                    

Continuous random network structure of atoms in an amorphous solid



Polycrystalline Solids

Atomic order present in sections (grains) of the solid. Different order of arrangement from grain to grain. Grain sizes = hundreds of µ m. An aggregate of a large number of small crystals or grains in which the structure is regular, but the crystals or grains are arranged in a random fashion. 



[image: ][image: ]
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Examples: 

Amorphous silicon (a-Si) used to make thin film transistors (TFTs) used as switching elements in LCDs. Ploycrystalline Si – Gate materials in MOSFETS.

Active regions of most solid state devices are made of crystalline semiconductors.

اذا امتدت التكرارية خلال المادة فسوف نحصل على بلورة منفردة (           ) اما اذا اضطربت التكرارية عند الحدود الجيبية (                                   ) فسوف نحصل على تركيب متعدد البلورات. 

وعندما لا تعطى الذرات الفرصة الكافية لتنظيم نفسها بشكل ملائم أي بواسطة التعرض لحركتها (                       ) فسوف تكون المادة الغير متبلورة (                                    ) .

اما ما يتعلق بالبلاستك والبوليمرات فتتكون من جزيئات كبيرة ذات تركيب غير منتظم ويصعب الحصول على تعبئة بلورية منها (                           ) 



Lattice symmetry operation

There are mainly six symmetry operation :-

1. Translation symmetry operation تناظر انتقالي                                               

2. Rotation symmetry operation                  تناظر دوراني                                    

3. Reflection symmetry operation تناظر انعكاسي                                              

4. Inversion symmetry operation تناظر انقلابي                                                   

5. Glide symmetry operation تناظر تزحلقي                                                        

6. Screw symmetry operation تناظر البرم (تدوير البرغي)                         



[image: ]1. Translation symmetry operation تناظر انتقالي                



T = n1+ n2 + n3 

	= r+T



ان مؤثر التناظر الانتقالي يتم بواسطة ازاحة التركيب البلوري او الشبيكة بموازاة نفسه ويربط بين أي نقطتين في الشبيكة.

2. [image: ]Rotation symmetry operation                  تناظر دوراني                                 















عدد الدورات  التي تعود بها النقطة واحد مثلا الى موقعها ويرمز لها بلرمز



Rotations by an angle 2π/n about a specific axis. 









   

عدد الدورات  التي تعود بها النقطة واحد مثلا الى موقعها 3-

اذا بقي محيط البلورة بدون تغيير بعد الدوران بزاوية                     حيث ان           فان هذه العملية تسمى (بمؤثر التناظر الدوراني )





عدد الطيات او الدورات بحيث ان الذرة تبقى بدون أي تغيير وترجع الى موقعها الاصلي 



3. Reflection symmetry operation (mirror plane) تناظر انعكاسي               



if we have point r1 = axi+ayj

         after applying a mirror (reflection)

[image: ][image: ]we get 1 = axi-ayj











[image: ]

4. Inversion symmetry operation تناظر انقلابي                  



if r represent any point or atom in space 

	r1 = axi+ayj 

	-1 = -axi-ayj

دوران ب 180 وانعكاس على شكل مرآه.يمكن اعتبار الاتقلاب التناظري عملية مركبة حيث يكأفئ دوران 180 مصحوبا بانعكاس على مستوي مرآه عمودي على مستوي الدوران 



5. Glide symmetry operation تناظر تزحلقي                         

اذا كان لدينا شبيكة كاملة ببعدين يمكن ان نحصل على موثر تزحلقي والذي يكافئ انعكاس مصحوبا بانتقال 2/1 ثابت الشبيكة











6. Screw symmetry operation تناظر البرم (تدوير البرغي)       



يتكون مؤثر التناظر المحوري (تدوير البرغي) من محور دوران (1,2,3,4) مصحوباً بتناظر انتقالي وبذلك نحصل على العلاقة التالية 

nT=Pa

حيث ان      =عدد صحيح

ونتذكر ان

 حيث ان     هو عدد الطيات  α= 2π/n 

T=(

Ex. 1:- Draw the following screw operation  21

في البداية نقارن 21 مع   np

n=2, p=1

نطبق المعادلة 

T=(»T=1/2 a  مقدار الارتفاع           

   α= 2π/n» 2π/2= π زاوية الدوران         

لكي نرسم هذا المؤثر نقوم برسم دائرة وهمية تساعدنا على تقدير الزاوية ونبدا بتدويرها زاوي باي وبنفس الوقت نحرك الشكل مسافة 

1/2 a

 (
 (
½
)a
 (
½
)a
)ولو دورنا الشكل مرة اخرى بنفس الزاوية ونفس مقدار الحركة فسوف نرجع الى الموضع الاصلي ولكن مصحوب بتناظر انتقالي

 

   















Ex. 2:- Draw the following screw operation  31

في البداية نقارن 31 مع   np

n=3, p=1

نطبق المعادلة 



T=(»T=1/3 a  مقدار الارتفاع           

   α= 2π/3» 2π/3= 120زاوية الدوران        ° 



 (
(1/3)a
)





 (
(1/3)a
)



 (
(1/3)a
)











Ex. 3:- H.W:- Draw the following screw operation  43?





Hard Sphere Model of Crystals

Assumes atoms are hard spheres with well defined diameters that touch. Atoms are arranged on periodic array – or lattice. Repetitive pattern – unit cell defined by lattice parameters comprising lengths of the 3 sides (a, b, c) and angles between the sides (α, β, γ).



[image: E:\محاضرات صلبة\crystal.JPG][image: E:\محاضرات صلبة\lattice parameter.JPG]



















Atoms in a Crystal



Crystal structure



In a crystal, the atoms are arranged in a regulator pattern that repeats throughout the material. The periodic arrangement of atoms in a crystal is called a lattice. All the lattice points are geometrically equivalent. A lattice therefore exhibits perfect translational symmetry and, relative to an arbitrarily chosen origin, at a lattice point, any other lattice point has the position vector.

r123 = n1a + n2b + n3c 



where n is necessarily an integer and the vectors a, b and c are fundamental units of the  translational symmetry. There are fourteen different lattice structures which are called the Bravais lattices. By repeated duplication, a unit cell should

reproduce the whole crystal.A Bravias lattice (unit cells) - a set of points

constructed by translating a single point in discrete steps by a set of basis vectors.In 3-D, there are 14 unique Bravais lattices. All crystalline materials fit in one of these arrangements.



Crystal system



The crystal system: Set of rotation and reflection symmetries which leave a lattice point fixed.There are seven unique crystal systems: the cubic (isometric), hexagonal, tetragonal, rhombohedral (trigonal), orthorhombic,monoclinic and triclinic.





[image: E:\محاضرات صلبة\2.JPG]
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[image: E:\محاضرات صلبة\3.JPG] [image: ]
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(1-a): Simple Cubic Structure (SC)

[image: ]
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SC

1. No. of atom/unit cell 1/8*8=1 atom

2. No. of nearest neighbor are 6

3. the distance of the nearest neighbor d=a

4. the relation between r and a is a=2r, r=a/2

5. the primitive vector are =ia,=jb, =kc

Volume=||

Volume= ia.( jb*kc)

a=b=c in the cubic system

Volume= ia.( ja*ka)»  ia.( ia2)

Volume=a3



































(1-b): Body Centered Cubic Structure (BCC)

[image: ]

[image: ]

 (
a
a
d
D
)BCC

D=

D=a

d=1/2a)

1. No. of atom/unit cell (1/8*8)+1=2 atom

2. No. of nearest neighbor are 8

3. the distance of the nearest neighbor d=a)

4. the relation between r and a is a =r+r+2r, a =4r» r=1/4a)

r=d/2

5. the primitive vector are

 =a/2(i+j-k)

= a/2(-i+j+k)

 = a/2(i-j+k) 

Volume=||

Volume= a/2(i+j-k).( a/2(-i+j+k)* a/2(i-j+k))

a=b=c in the cubic system 

Volume=(1/2)a3





(1-c): Face Centered Cubic Structure (FCC)

[image: ] [image: ] [image: ]















 (
a
a
d
D
a
)FCC

D=a

d=1/2a)

1. No. of atom/unit cell (1/8*8)+6*1/2=4 atom

2. No. of nearest neighbor are 12

3 planes * 4 points=12



























3. the distance of the nearest neighbor d=a)

4. the relation between r and a is a =r+r+2r, a =4r» r=1/4a)

r=d/2

5. the primitive vector  of FCC are

 =a/2(i+j)

= a/2(j+k)

 = a/2(i+k) 

Volume=||

Volume= a/2(i+j).( a/2(j+k)* a/2(i+k))

a=b=c in the cubic system 

Volume=(1/4)a3















The filling factor F.F or packing factor



وهو النسبة المئوية للحجم المشغول بواسطة الذرات على الحجم الكلي للمكعب او النظام 

F.F=

F.F=



Applications 

1.SC

No. of atoms /unit cell=1

r=a/2

F.F== ==3.14/6=52%

2.BCC

No. of atoms /unit cell=2

r=1/4a)

F.F==68%



3.FCC

No. of atoms /unit cell=4

r=1/4a)

F.F==74%
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Miller Index

•Miller index is used to describe directions and planes in a crystal.

•Directions written as [u v w] where u, v, w integers u, v, w represent coordinates of the vector in real space. A family of directions which are equivalent due to symmetry operations is written as <u v w>

•Planes: Written as (h k l), Integers h, k, and l represent the intercept of the plane with x, y, and z axes, respectively. Equivalent planes represented by [h k l].



Q: - The intercepts of a crystal plane with the axis defined by a set of unit vectors are at 2a, -3b and 4c. Find the corresponding Miller indices of this and all other crystal planes parallel to this plane.

The Miller indices are obtained in the following three steps:

1. Identify the intersections with the axis, namely 2, -3 and 4.

2. Calculate the inverse of each of those intercepts, resulting in 1/2, -1/3 and 1/4.

3. Find the smallest integers proportional to the inverse of the intercepts. Multiplying each fraction with the product of each of the intercepts (24 = 2 x 3 x 4) does result in integers, but not always the smallest integers.

4. These are obtained in this case by multiplying each fraction by 12.

5. Resulting Miller indices is (6  3)

6. Negative index indicated by a bar on top.



Miller Indices: Directions

[image: ]

Negative Directions

[image: ]

Miller Indices: Equivalent Directions

Equivalent directions due to crystal symmetry:

[image: ]



	





Miller Indices of Planes

[image: ]
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Planes with Negative Indices

[image: ]

Miller Index for Hexagonal Crystal System

•Four principal axes used, leading to four Miller Indices:

•Directions [h k i l]; Planes (h k i l), e.g. (0001) surface.

•First three axes/indices are related: h + k + i = 0 or i = -h-k.

•Indices h, k and l are identical to the Miller index.

• Rhombohedral crystal system can also be identified with four indices.



ان العلامة بين المتجهات المتعامدة (a1,a2,a3) تعطي علامة بين معاملات ملر الثلاثة الاولى وهي وجوب ان يكون مجموعها يساوي صفراَ.

 (
a
1
a
2
a
3
a
1
/h
a
2/k
a
3/i
)Q:- show that the first three miller indices in the hexagonal system have a sum of  zero.

ناخذ قاعدة النظام السداسي والتي فيها المحاور المتساوية (a1,a2,a3) 

والزوايا بين كل محورين 120 ,نختار مستوي يقطع أي من المحورين

                                          ويقطع الامتداد السالب للمحور الثالث







ΔABE=

ΔABD=

ΔBED=

ΔABE= ΔABD+ ΔBED

= --

a1=a2=a3=a

 »

» 



Wigner-Seitz cell

In order to incorporate the information about the point group symmetry in the primitive cell, the Wigner-Seitz cell is usually employed. This particular primitive unit cell is constructed by first drawing lines to connect a given lattice point to all nearby lattice points, and then drawing new lines (or planes, in three-dimensional lattices) at the mid point and normal to the first lines. The Wigner-Seitz cell is the smallest area (volume) enclosed by the latter lines (planes). An example of the construction of a Wigner-Seitz cell for a two-dimensional oblique lattice is illustrated in the figure below. For a two-dimensional square lattice the Wigner-Seitz cell is also a square. The Wigner-Seitz cell is always centered on a lattice point and incorporates the volume of space which is closest to that lattice point rather than to any other point.



[image: ]



حساب المسافة الفاصلة بين مستويات (               ) المتجاورة

 (
X
y
z
α
β
γ
) (
X
y
z
)



















cos 2 α+ cos 2 β+ cos 2 γ=1………………………………1

d=a/h  cos α

d=b/k cos β

d=c/l cos γ

من العلاقات اعلاه سوف نجد قيمة كل من جيب تمام الزوايا ونعوضها في معادلة رقم 1

 d2[(h/a) 2+(k/b) 2+(l/c) 2]=1

d hkl=

for cubic system a=b=c

d hkl=

d=inter planer distance

a=inter atomic separation

Ex.1:- find the inter planer distance of the following plane (100).

d hkl= =     = a









Ex.2:- find the inter planer distance of the following plane (200).

d hkl= =     = a/2









Q:-show that in the cubic system the directional cosines are:-

1-proporational to the Miller indices 

cos  α/cos β/ cos γ=h/k/l

2-prove that  cos α =, cos β=,  

cos γ =,

 (
X
y
z
α
β
γ
)cos α= d(h/a)

cos β= d(k/b) 

cos γ= d(l/c)

in the cubic system 

a=b=c

cos α/ cos β= d(h/a)/ d(k/b)= (h/k)

cos β/ cos γ= d(k/b)/ d(l/c)= (k/l)

cos γ/ cos α= d(l/c)/ d(h/a)= (l/h)

cos  α/cos β/ cos γ=h/k/l

we remember 

d =                بضرب طرفي المعادلة ب*(h/a)

(h/a)*d =  *(h/a)              

cos α=  

وبنفس الطريقة يمكن ايجاد  

d =                بضرب طرفي المعادلة ب*( k/b)

a=b=c

(k/b)*d =  *(k/b)              

cos β=  

وبنفس الطريقة بالنسبة الى 

cos γ =,





Crystal diffraction

لغرض دراسة التركيب البلوري لايمكن ان نحصل على معلومات كافية من خلال الملاحظات المجهرية او بالعين المجردة ليس لان للمجهر حدود معينة للتكبير بل الموضوع يتعلق بطبيعة الشعاع المستخدم وفي المجاهر عادة يكون ضوءا مرئيا اطواله الموجية محصورة بين 4000-7000 انكستروم فما نريده هو شعاع طوله الموجي يساوي او اقل من المسافات المطلوب تحليلها وبما ان الفسح بين ذرات البلورة لاتزيد عن بضع انكسترومات اذا فالشعاع المطلوب يجب ان يكون طوله الموجي يساوي او اقل من بضعة انكسترومات ومن خلال هذا سوف نحصل على تفاصيل وافية عن التركيب البلوري مثل حجم اصغر خلية في البلورة ومواضع نوى الذرات والتوزيع الالكتروني في داخل الخلية وكذلك انماط اهتزاز ذرات البلورة ان هذا وغيره يتم من خلال الانعطاف اوالحيود وتدعى هذه العملية احيانا بالتشتت  ( الاستطارة ).

 س/ متى تحصل الاستطارة والتشتت

 ج/ عندما يتفاعل الاشعاع الكهرومغناطيسي مع المادة فاذا فقد الجسيم او الفوتون المنحرف عن مساره قسما من طاقته فهذه العملية تدعى الاستطارة غير المرنة وذا لم يحدث تغير في الطاقة لايحدث تغير في الطول الموجي فان العملية تدعى( الاستطارة المرنة ).                        

توجد ثلاث انواع اساسية من الجسيمات الموجية المختلفة بالطاقة والتي يمكن استخدامها في تجارب الحيودوهذه الانواع الثلاثة هي :-

1-X-ray photons.

2- Electrons.

3-Neutrons. 





     X-ray photons 1.فوتونات الاشعة السينية

ان الاشعة السينية هي موجات كهرومغناطيسية ذات اطوال موجية محددة تقع بين الاشعة فوق البنفسجية واشعاعات كاما حيث لاتزيد اطوالها الموجية عن بضعة انكسترومات (0.1-10Å) 

  ان طاقة الفوتون للاشعة السينية 

» h=6.63*10-34

 	c=3*108 m/s

    



if =1 »E=12400 eV

E=12.4 KeV



ان دراسة التركيب البلوري تحتاج الى طاقات بحدود)10-50 KeV)









	Electrons	2.الالكترونات   

ان ظاهرة الحيود الالكتروني هي في الاساس اثبات لوجود موجات ترافق الالكترونات بموجب نظرية ديبرولي المعروفة ولكن مايميز الالكترون عن الفوتون والنيوترون امتلاكه للشحنة ويتفاعل بقوة مع المواد ويخترقها الى مسافات صغيرة نسبيا قد تصل الى بضعة مئات من الانكسترومات قبل ان يعاني من تشتت مرن او غير مرن, ان طاقة الالكترون تعطى بواسطة علاقة ديبرولي 

 = 



p=momentum

me=mass of electron 

v=velocity of electron 

h=planks constant

 





if =1 »E=150 eV



	Neutrons	3.النيوترونات

في عام 1945 تم بناء اول جهاز لتسجيل الحيود النيوتروني وكما نعلم فان للنيوترون شحنة متعادلة ولكنه يمتلك عزم مغناطيسي بسبب عدم تطابق مركزي الشحنة السالبة والموجبة لذلك يمكن الاستفادة منه في دراسة التراكيب البلورية للبلورات المغناطيسية حيث يتفاعل النيوترون بسبب عزمه المغناطيسي مع الكترونات هذه البلورات وكذلك تفاعله مع نوى الذرات اما في حالة البلورات الغير مغناطيسية فالنيوترون يتفاعل مع نوى الذرات, تعطى معادلة طاقة النيوترون بواسطة معادلة ديبرولي 



 = 



p=momentum

mn=mass of neutrons 

v=velocity of neutrons 

h=planks constant



 





if =1 »E=0.08 eV





















Bragg diffraction law
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nλ=2d sin θ

n=1, 2 θ=1

λ max=2d

الشعاع المطلوب استخدامه لدراسة الحيود يجب ان يكون طوله الموجي يساوي او اقل من المسافة البينية بين مستويات  hkl

i.e λ≤2d

if d=5Å» λ max≤10 Å 

هذا هو السبب في عدم الاستفادة من الضوء المرئي في دراسة التركيب البلوري لان الاطوال الموجية محصورة بين (4000- 7000) Å.

في المختبر نقيس عادة الزاوية ф وهي تساوي θ2 لذلك يكون من المفيد ايجاد علاقة تدخل فيها الزاوية ф وكذلك المسافة البينية بين الذرات a.



d =

nλ=2d sin θ

nλ=2 sin θ













وهذا الشكل العملي لقانون براك





Experimental diffraction methods

1-Laue methodطريقة لاوي                                                                                       

2-Rotating crystal method طريقة البلورة الدوارة                                                        

3-Powder method طريقة المسحوق                                                                             



Laue diffraction equation



                                

in one dimension

 

let α and αo are the angles 

between  a and the incident 

and diffracted radiation 

respectively ,

where a is inter atomic distance 









from the Fig.

Δ1= a cos αo= o

Δ2= a cos α = 



The path-difference



Δ2- Δ1= a(cos α-cos αo)= (-o)= 

where S=(-o) is the normal scattering factor  عامل الاستطارة العمودية



لكي نحصل على تداخل بناء فان فرق المسار هذا يجب ان يساوي مضاعفات عددية صحيحة الى الطول الموجي

a(cos α-cos αo) ==eλ



for three dimension

باستخدام نفس الاسلوب اعلاه سوف نحصل على 

a(cos α-cos αo)= (-o)=λ

b(cos β-cos βo)= (-o)= =fλ

cγ(cos γ-cos γo)= (-o)=λ



where  e=nh, f=nk, g=nl (hkl) Miller indices 















from the Fig. we find that

│S│=2 sin θ

=2 sin θ. 

where  is unit vector along 



Q-Prove that Laue equation are equivalent to Braggs law.

Answer:-

a(cos α-cos αo)λ=nhλ

b(cos β-cos βo =fλ=nkλ

cγ(cos γ-cos γo)=λ=nlλ



*consider a cubic system a=b=c

* Take the square of both sides of Laue equation above and add them together we get

a2 [(cos 2 α+ cos 2 β+ cos 2 γ)+ (cos 2 αo+ cos 2 βo+ cos 2 γo)-2(cos α cos αo + cos β cos β o + cos γ cos γ o)]=(e2+f2+g2) λ2



e=nh,f=nk,g=nl

a2 [2-2(cos α cos αo + cos β cos β o + cos γ cos γ o)]=n2 (h2+k2+l2) λ2

because  (cos 2 α+ cos 2 β+ cos 2 γ)= (cos 2 αo+ cos 2 βo+ cos 2 γo)=1

but 

 (
X
y
z
α
β
γ
)(cos α cos αo + cos β cos β o + cos γ cos γ o)=cos ф (to be prove later) where ф=2θ

2 a2[1-cos ф]= n2 λ2 (h2+k2+l2) 







cos ф =(cos α cos αo + cos β cos β o + cos γ cos γ o) 



= i cos α+ j cos β+ k cos γ

o= i cos αo + j cos βo + k cos γo



.o=│s│.│so│ cos ф

       = cos ф







.o= cos α cos αo + cos β cos β o + cos γ cos γ o= cos ф

Other forms of Laue equation 



1-in terms of phase difference H 

Definition :-

H=path diff.*2π/λ

but path diff.==

=



H=(2π/λ)*(= 2π/λ*e λ=2πe=2πnh

H=(2π/λ)*(= 2π/λ*f λ=2πf=2πnk

H=(2π/λ)*(= 2π/λ*g λ=2πg=2πnl







Reciprocal lattice الشبيكة المقلوبة                                                                      

The concept of reciprocal lattice is directly connected with the periodicity of crystalline materials and of their physical properties (such as charge density, electric field distribution, etc.).

هي مفهوم اساسي في علم البلورات يستخدم للتعبير عن كل الظواهر التي تنتج من تفاعل الموجات في المواد الصلبة مثل الحيود وكما نعلم فان حيود الاشعة السينية تنتج من استطارتها من الذرات ولاجل معرفة مصدر كل استطارة نستخدم مفهوم الشبيكة المقلوبة .

ان مقلوب المسافة البينية بين مستويات hkl هو الذي يعين موقع نقطة في الشبيكة المقلوبة.

│Ghkl│=

where Ghkl is reciprocal lattice vector 

  عامل قياس الرسم وقيمته اما π2 او1 وسوف نستخدم π2 في موضوع الحالة الصلبة  A 

│Ghkl│= π2/dhkl



ان الشبيكة المقلوبة هي عدد غير محدد من النقاط المرتبة بانتظام وبشكل دوري في فضاء ثلاثي الابعاد وان طول المتجه بين نقطة الاصل وأي نقطة في الشبيكة المقلوبة تتناسب عكسيا مع المسافة البينية  d  لمجموع من المستويات المتوازية في شبيكة حقيقية ولاجل اشتقاق العلاقة بين المتجهات الاساسية للشبيكة الحقيقية والمتجهات الاساسية للشبيكة المقلوبة نفرض ان لدينا وحدة خلية لشبيكة مائلة محاورها الاساسية  











حجم هذا المكعب v =مساحة القاعدة * الارتفاع

v =مساحة القاعدة *op

  v =مساحة القاعدة *d001

=1/d001مساحة القاعدة/ الحجم=

│Ghkl│= π2/dhkl

G001= π2/d001= π2

	وبنفس الطريقة نجد :-

G010= π2/d010= π2

G100= π2/d100= π2

ويمكن استبدال G001 ,G100 G010  بالرموز التالية  لتمثيل متجهات الشبيكة المقلوبة الاساسية

 π2

 π2

 π2

من هذه العلاقات نفهم على انه  يكون عمودي على  

     

     

     



=0

لقد حددنا مواقع الشبيكة الحقيقية بواسطة المتجهات الاساسية  

Rhkl=h  

اما في الشبيكة المقلوبة فيتم تعريف أي نقطة في هذه الشبيكة بدلاله معاملات ملر لمحاور الشبيكة المقلوبة    

Ghkl=h  

تطبيقات الشبيكة المقلوبة 

1-SC

The primitive vector 

=ai

= bj

 = ck

 π2=2 π=()i

 π2=()j

 π2=()k

حيث ان طول   يساوي  () والزوايا متساوية 90 لذلك فان مقلوب المكعب البسيط هو كذلك مكعب بسيط ولكن ثابت الشبيكة هو ()







[image: ]

2-BCC

The primitive vector 

=a/2(i+j-k)

= a/2(-i+j+k)

 = a/2(i-j+k) 

 π2=2 π=(i+j)

 π2=(j+k)

 π2=(i+k)

Ghkl=h  =h[(i+j) ]+k[(j+k) ]+l[(i+k) ]

=( h+l)i ]+ (h+k)j ]+ (k+l)k ]

The reciprocal lattice of (BCC) is (FCC)

3-FCC

The primitive vector 

=a/2(i+j)

= a/2(j+k)

 = a/2(i+k) 

 π2=2 π=(i+j-k)

 π2=(-i+j+k)

 π2=(i-j+k)

Ghkl=h  =h[(i+j-k) ]+k[(-i+j+k) ]+l[(i-j+k) ]

=( h-k+l)i ]+ (h+k-l)j ]+ (-h+k+l)k ]

The reciprocal lattice of (FCC) is (BCC)

Q-show that d=is equivalent to d hkl=

 in SC.

Answer:-

Ghkl=h  =(hi+kj+lk)

Ghkl. Ghkl=│ Ghkl│2  =()

│ Ghkl│=

d== ==

Q-show that Δk=G

The wave vector  │ │ =

𝚫k=-o=normal to the plane

=diff. in the wave vectors

from the Fig.

│ 𝚫k │ =sin θ+sin θ

│ 𝚫k │ =sin θ ……………scaler

and │ 𝚫k │ =(sin θ). ……………vector

 unit vector along the normal 𝚫k or G

==»│ 𝚫k │ =(sin θ).»│ 𝚫k │ =(sin θ).

d=» =»»│ 𝚫k │ =(sin θ).



𝚫k │ =(sin θ).»»2dsinθ=n for n=1

𝚫k=

-o=»»o+	
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[1] Draw a vector and take components 0 2a 2a

[2] Reduce to simplest integers 0 1 1

[3] Enclose the number in square brackets
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[1] Determine intercept of plane with each axis | 2a 2a 2a
[2] Invert the intercept values 1/2a 1/2a 1/2a
[3] Convert to the smallest integers 1 1 1

[4] Enclose the number in round brackets
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Fig. 52 : Diffraction of X rays of wavelength A from atoms in the top two layers of a crystal.
Rays striking atoms in the second layer travel a distance equal to BC + CB' farther than rays
striking atoms in the first layer. If this distance is a whole number of wavelengths, the reflected

rays are in-phase and interfere constructively . Knowing the angle @ then makes it possible to
calculate the distance d between layers.
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